NUTRICAO
TURMA: 762 - NOITE

S

SEG

TER

GRADE DE HORARIOS
1° SEMESTRE - 2024

QUA

QUI

(*/ FAMATH

FACULDADE MARIA THEREZA

SEX

18:30 - 19:20

ESTAGIO SUP. EM ALIM.

COLETIVA
NUT-21-1-07-AN (Estégio)

KATIA ALESSANDRA MENDES DA
SILVA

PRAT. EXT. APL. NUTR.

CLINICA
NUT-21-1-07-AD (Especifica)

JULIANA MOREIRA MARTINS
BRASCHER

NUTRICAO CLINICAII
NUT-21-1-07-AM (Obrigatdria)

MARIANA CATTA-PRETA
CAIADO PEREIRA

LIBRAS
NUT-21-1-88-AB (Eletiva)

ROBSON DE SOUZA

NUTRIGAO MATERNO

INFANTIL
NUT-21-1-07-AL (Obrigatoria)

ANDRE MANOEL CORREIA DOS
SANTOS

CH

CH=220 Créditos=11

CH=80 Créditos=4

CH=80 Créditos=4

CH=40 Créditos=2

CH=80 Créditos=4

19:20 - 20:10

ESTAGIO SUP. EM ALIM.

COLETIVA
NUT-21-1-07-AN (Estagio)

KATIA ALESSANDRA MENDES DA
SILVA

PRAT. EXT. APL. NUTR.

CLiNICA
NUT-21-1-07-AD (Especifica)

JULIANA MOREIRA MARTINS
BRASCHER

NUTRICAO CLINICA Il
NUT-21-1-07-AM (Obrigatéria)

MARIANA CATTA-PRETA
CAIADO PEREIRA

LIBRAS
NUT-21-1-88-AB (Eletiva)

ROBSON DE SOUZA

NUTRIGAO MATERNO

INFANTIL
NUT-21-1-07-AL (Obrigatéria)

ANDRE MANOEL CORREIA DOS
SANTOS

CH

CH=220 Créditos=11

CH=80 Créditos=4

CH=80 Créditos=4

CH=40 Créditos=2

CH=80 Créditos=4

20:20 - 21:10

Projeto de TCC
NUT-21-1-07-AA (Obrigatoria)

ALINE MOTA DE BARROS
MARCELLINI

PRAT. EXT. APL. NUTR.

CLiNICA
NUT-21-1-07-AD (Especifica)

JULIANA MOREIRA MARTINS
BRASCHER

NUTRIGAO CLINICA Il
NUT-21-1-07-AM (Obrigatéria)

MARIANA CATTA-PRETA
CAIADO PEREIRA

NUTRIGAO MATERNO

INFANTIL
NUT-21-1-07-AL (Obrigatéria)

ANDRE MANOEL CORREIA DOS
SANTOS

CH

CH=80 Créditos=4

CH=80 Créditos=4

CH=80 Créditos=4

CH=80 Créditos=4

21:10 - 22:00

Projeto de TCC
NUT-21-1-07-AA (Obrigatoria)

ALINE MOTA DE BARROS
MARCELLINI

PRAT. EXT. APL. NUTR.

CLiNICA
NUT-21-1-07-AD (Especifica)

JULIANA MOREIRA MARTINS
BRASCHER

NUTRIC}AO CLINICAI
NUT-21-1-07-AM (Obrigatria)

MARIANA CATTA-PRETA
CAIADO PEREIRA

NUTRIGAO MATERNO

INFANTIL
NUT-21-1-07-AL (Obrigatéria)

ANDRE MANOEL CORREIA DOS
SANTOS

CH

CH=80 Créditos=4

CH=80 Créditos=4

CH=80 Créditos=4

CH=80 Créditos=4




